1.15 Limits at Infinity and Horizontal Asymptotes

Calculus

Solntions

| Identify all horizontal asymptotes of each function.
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31. Which of the following functions grows the fastest?
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32. Suppose that g(x) = sin? x Vx% + 4, and lim % = 0. Which of the following functions could
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33. Which of the following statements are true for the function f(x) = ¥?—"O ™ f'b

I. f(x) has a horizontal asymptote of y = 1 oY
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34. Which of the following functions has both a vertical and horizontal asymptote?
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35. The function f(x) ={ **-1 ' ; o has which of the following asymptotes?
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(A) —1 (B) 0 (D) oo (E) The limit does not exist.

37. What are all horizontal asymptotes of the graph of y = ?tzx
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